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ECONOMICS - GENERAL
Paper : SEC-B-1
(Economic Data Analysis and Report Writing)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A
1. Answer any ten questions : 2x10

(a) What is meant by classification of data?
(b) What are the types of bar diagram?

(c) What do you mean by cumulative frequency distribution?
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What do you mean by class boundary?

Find the Harmonic Mean of the following numbers 2, 4, 6, 8.
What is mode?

Find the median of the following observations :
11, 19,6, 15,13; 18, 12, 10.

What is coefficient of variation?

Mention two uses of Lorenz Curve.

Give two examples of continuous variable.

Define dispersion.

Write the formula of Standard Deviation for simple frequency distribution.

Why do we need to define class boundaries as well as class limits?

Why are tables and graphs important in a research report?

The A.M. of the ages of a group of 20 girls is 15 years and that of a group of 25 boys is 24 years.
What will be the A.M. of ages of the composite group?

Group - B

Answer any four questions. 5x4

What are the different parts of a table?

What are the advantages and disadvantages of Quartile Deviation?

Write a short note on Gini coefficient.

What points should be remembered while inserting footnotes?

Draw the two Ogives for the following frequency distribution :

Class limit

51 - 60

61 - 70

71 -80 | 81 -90

Frequency

5

7

12 6

Estimate the number of candidates whose marks lie between 48 and 62 from the following cumulative
frequency distribution

Marks obtained (=)

Cumulative frequency (<)

45 447
50 484
55 505
60 511
65 514




(5) (xrém Sm.)-Economics-G/(SEC- -I)ICBCS)

Group - C
Answer any four questions.

8. (a) Draw a Histogram using the following data :

Revenue (in'000) | Number of firms (frequency)
T
0-500 3
500 - 1000 42
1000 - 2500 288
2500 — 3500 150
3500 — 4500 51
(b) Comment on the nature of this Histogram. 8+2

9. What is meant by pie diagram? Draw a pie diagram with the help of the following data.

Sector Expenditure (in crore rupees)
Industry and mining 10,000
Irrigation and energy 9,000
Transport 8,000
Miscellaneous 6,000 2+8

10. (a) Explain what is meant by central tendency of data. What are the common measures of central
tendency?

(b) The word lengths of 40 words were counted and the following frequency distribution has been
formed.

Word length (x) 2314 15 | 7| Total
Number of words (/) |6 (8|12 |10 (4| 40

Determine the weighted Arithmetic Mean of the above data. (2+43)+5

11. Compute the standard deviation and variance for the series.

x 110 117 129 300 357 100 500 630 10
12. Describe in brief the layout of a research report. 10
13. Write short notes on (any two) : 5+5

(a) Preparation of bibliography
(b) Characteristics of a good research report
(c) Advantages and disadvantages of standard deviation

(d) Simple Linear Regression Model.



